= =
|_\
(@) c?\) Om

I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIﬂI_

=

1000/c 2do)/d(m_1 + m_2) [1/GeV]
|_\
o

1072

10

107

Ratio to CMS
[N

0.5

7000 GIeVI PP

Trimmed Jet Mass (anti-k (0.7), 2450<p <500, |y|<2.5)

Rivet 3.1.0, = 5.3M events

—=

‘ 5

. =

B ‘\ _
= ) =
— 1™
®
B —™
L __J]©
— =5 O
— Hm
— —
L =
| = cMms =
= --O3-- Herwig 7.2.0 default =
— —&— Pythia 8.212 default = ;’
—— ¢ Sherpa 2.1.1 default — §
— do
B —H o
O
= U U SR S I R el
= 42

- m
\$ 1

B —0.5

A
200

(m_1+m_2)/2[GeV]



	Contents
	Page 1


